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&1 KiE(°C)
AIEIEAE (R4.7.1)
HEMS | ZERIA EDE "S5 KER =P ji::b= RO 5 Dd 548 57 44 5¢ AIEEDE
T | SE-EE
Om 26.8 27.2 26.9 270 26.8 26.9 270 A 01
2m 26.8 27.0 26.7 26.8 26.7 26.8 26.2 0.6
5m 26.4 26.2 25.6 26.2 26.4 26.1 25.2 0.9
10m 25.3 24.9 24.1 24.9 24.9 248 23.8 10
B-1m 24.1 22.8 23.2 22.7 224 23.0 225 0.5
2 EH
AIEIEAE (R4.7.1)
FEMS | ZRIA EDE H3Y KER =P ji::b= RO 5 Dd 548 57 145 AIEEDE
U | SE—dE
Om 30.6 30.2 30.5 30.1 30.8 30.5 33.1 A26
2m 30.8 30.7 30.6 30.5 31.0 30.7 33.2 A 25
5m 31.8 32.0 32.7 31.8 31.8 320 33.4 A14
10m 33.1 33.4 33.8 33.4 334 33.4 338 A 04
B-1m 33.8 34.1 34.1 34.2 34.2 34.1 34.1 0.0
#3 BHEMERE (mg/L) _
AIEIEAE (R4.7.1)
FEMS | ZBRIA EDE HSY KER =P ji::b= R0 5 Dd 548 5714 5¢ BEEDE
TET T | SE—gE
Om 7.2 6.9 6.8 6.8 6.7 6.9 7.2 A 03
2m 7.1 6.7 6.7 6.7 6.6 6.7 7.2 A 05
5m 6.6 6.3 6.1 5.8 6.4 6.2 7.2 A10
10m 5.8 5.8 6.7 6.0 5.7 6.0 6.7 A 07
B-1m 5.8 6.5 7.0 6.3 6.3 6.4 6.1 0.3
XERIAL-EDNE-ASVDFEHIE
&4 KiR-FBHE (m)
REHS | ZBRIA EnE 139 XEFR HiE
K% 15.7 20.5 15.6 21.3 19.1
BEAE 5.5 6.0 9.0 8.0 6.5
BiIE (7/1) 45 48 6.8 6.0 6.0
£5 TS5 (cells/mL
AL=7 -ZXFEHM =S R
Om 0 0 190
ZERIJA 2m 0 0 100
5m 0 0 11
Om 0 0 270
KER 2m 0 0 260
5m 0 1 120
Om 0 0 150
BEnE 2m 1 1 60
5m 0 0 19
Om 0 0 340
B2 H 2m 0 0 140
5m 0 1 12
Om 0 0 220
H30 2m 1 0 240
5m 0 0 24




